Governor Chet Culver





Order Entry

8:00AM - 3:30PM Mon - Thurs 515.281.7422 Toll Free: 866.IowaABD (866.469.2223)



Will-Call

Will-Call Order: 8AM - 1PM Mon - Fri Warehouse Pickup: 11AM - 3:30PM Mon - Fri



Fax Orders

8AM - 3:30PM Mon - Thurs Products Fax: 515.281.7385 Toll Free Fax: 877.891.5348

Memorial Day Order & Delivery Schedule

Lynn M. Walding, Administrator



The Division will be closed on Monday, May 25, 2009 for the Memorial Day holiday. Please refer to the day of the week you place your orders to see how your order and delivery schedule will be impacted.

Time of day order deadlines will remain the same.

MONDAY: Orders must be received by Tuesday, May 26th, with deliveries made one day later than normally received.

TUESDAY: Orders must be received by Wednesday, May 27th, with deliveries made one day later than normally received.

WEDNESDAY: Orders must be received by Thursday, May 28th, with deliveries made one day later than normally received.

THURSDAY: Orders must be received by Friday, May 29th, with deliveries made one day later than normally received.

Legislative Updates



The 83rd Iowa General Assembly has ended its FY09 session. Visit IowaABD.com and click the thumbnail shown to the left to view the final Legislative Update and see which alcohol and tobacco related bills

passed into law.

e-Regulation



The Division has launched an e-Regulation database on its website. You can search for tobacco and alcohol related violations, see court documents and a hearing calendar, as well as sign up for notifications by docket or county.

Visit IowaABD.com and click the thumbnail above to get started.



Iowa ABD Specials May 2009



Wirtz Beverage Iowa (formally Hawkeye Wine & Spirits)

3101 104th Street, Suite 4 Urbandale, IA 50322 Phone: 515.252.1665 Fax: 515.252.1708

The following promotions are offered during the month of May. Promotions are limited to one per account. All purchases MUST be made on one invoice, cases MUST be on <u>display</u> and invoices MUST be faxed or sent to our office by June 15th for payment.

Bacardi USA

Grey Goose Flavored Vodka:

Purchase 1 case, receive a \$25 gift check. Purchase 3 cases, receive a \$100 gift check.

Bacardi RTD Classic Mojito:

Purchase 5 cases, receive a \$50 gift check.

Bacardi Superior/Gold: 1.75 ONLY

10 Cases = \$100 Gift Check 25 Cases = \$300 Gift Check

William Grant

Milagro Silver Tequila:

Purchase 1 case (6btls), receive a \$25 gift check.

Milagro Select Barrel Silver Tequila: (Special Order)

Purchase 1 case (6 btls), receive a \$50 gift check.

Milagro Reposado Tequila: (Special Order)

Purchase 1 case, receive a \$50 gift check. **Milagro Anejo Tequila:** (Special Order) Purchase 1 case, receive a \$50 gift check.

Pernod-Ricard USA

Malibu Melon Flavored Rum: .750 ONLY

Purchase 3 cases, receive a \$100 gift check.

Malibu & Flavors: 750 ONLY

Purchase 3 cases, receive a \$50 gift check. Purchase 5 cases, receive a \$100 gift check. Purchase 10 cases, receive a \$225 gift check.

Pernod Stimulus Plan:

Wild Turkey 80, Rare Breed, Russell Reserve Rye, Absinthe, Pernod Anise, Don Pedro, Presidente or Boodles (No more then 2 bottles per item)

Purchase 6 bottles, receive a \$50 gift check.

Purchase 1 case (12btls), receive a \$150 gift check.

Hiram Walker Triple Sec: 1.0 ONLY

Purchase 3 cases, receive a \$50 gift check.

Kahlua RTD: Mudslide or Raspberry White Russian

Purchase 3 cases, receive a \$50 gift check. Purchase 5 cases, receive a \$100 gift check.

Wild Turkey American Honey:

Purchase 3 cases, receive a \$100 gift check.

Beefeater: 1.75 ONLY

Purchase 3 cases, receive a \$125 gift check.

Kahlua: .750 ONLY

Purchase 3 cases, receive a \$75 gift check. Purchase 5 cases, receive a \$150 gift check.

Beam Global

Jim Beam: .750 ONLY

Purchase 5 cases, receive a \$150 gift check.

Jim Beam Black:

Purchase 1 case, receive a \$25 gift check.

Canadian Club Classic 12 Yr: (Special Order)

Purchase 1 case, receive a \$25 gift check.

Canadian Club: .750/1.75 ONLY

Purchase 5 cases, receive a \$75 gift check.

Purchase 10 cases, receive a \$175 gift check.

Purchase 25 cases, receive a \$500 gift check.

Cruzan Rums: Any Size/Flavor Purchase 3 cases, receive a \$50 gift check. Purchase 5 cases, receive a \$100 gift check.

DeKuyper: .750 ONLY

Purchase 10 cases, receive a \$100 gift check.
Purchase 15 cases, receive a \$200 gift check.
NEW Sauza RTD Margarita "in the Box":

Purchase 3 cases, receive a \$25 gift check. Purchase 5 cases, receive a \$50 gift check. Sauza Gold/Blanco: .750 ONLY Purchase 5 cases, receive a \$100 gift check.

Kessler: .750/1.75

Purchase 25 cases, receive a \$325 gift check.

Windsor, Kessler, Ron Rico, Gilbey's Gin & Old Crow:

1.75

Purchase 25 cases, receive a \$150 gift check.

Windsor, Kessler, Old Crow & Gilbey's Gin: .750

Purchase 1 case of EACH, receive a \$50 gift check.

Skyy Spirits

Cabo Wabo: Reposado/Blanco

Purchase 2 cases (one case EACH), receive a \$125 gift check.

Skyy Vodka: 1.75 ONLY

Purchase 5 cases, receive a \$50 gift check. Purchase 10 cases, receive a \$125 gift check. Purchase 25 cases, receive a \$350 gift check. May 2009 Iowa ABD Specials

Johnson Brothers of Iowa

2515 Dean Ave.

Des Moines, IA 50317 Phone: 515.262.1199 Fax: 515.262.0845

Please send all invoices to Cory Meiners or Scott Oeltjenbruns at Johnson Brothers. All purchases for each deal must be made on one invoice.

ABSOLUT 80 & Flavors: 750ml

Purchase 10 cases, receive a \$120 gift check. Purchase 15 cases, receive a \$225 gift check. Purchase 20 cases, receive a \$360 gift check. Purchase 25 cases, receive a \$500 gift check. Purchase 50 cases, receive a \$1250 gift check. Purchase 55 cases, receive a \$1375 gift check.

\$12 SPA in May

Tommy Bahama: Golden Sun Rum (32783) or White Sand (32793)

Purchase 1 case, receive a \$50 gift check.

Nikolai Vodka: 750ml & 1.75

Purchase 50 cases, receive a \$100 gift check. Purchase 100 cases, receive a \$300 gift check. Ryans Cream: 750ml (80456) & 1.75ml (80458)

Purchase 3 cases, receive an \$18 gift check. Purchase 5 cases, receive a \$50 gift check.

\$10 SPA per case in May on 750ml \$6 SPA per case in May on 1.75

Kapali Coffee Liqueur: 750mls (67586)

Purchase 3 cases, receive a \$15 gift check. \$10 SPA in May

Prairie Vodka: 750ml

Purchase two 6-pack cases, receive a \$ 25 gift check.

\$18 case SPA in May

Firefly Sweet Tea Vodka: Mix & Match 750 and 1.75

Purchase 3 cases, receive \$100.

Display Racks available

Paramount

3103 N.W. 15th St. Ankeny, Iowa 50023 Phone: 515.289.0606 Fax: 515.289.0848

The following promotions are offered during the month of May. Cases much be purchased on the same invoice and items must be displayed. No limit on the number deals an account can purchase during the month of May. All invoices should be given to your Paramount rep. or submitted to the above address or fax, attn: Denny Mayher.

Svedka Vodka: (750ml & Clementine ONLY)

Purchase 5 cases, receive a \$25 American Express check.

\$6 per case TPR on 750ml during May

Burnett's: Mix & Match Burnett's Vodka 1.75L, Burnett's Gin 1.75L and Burnett's Raspberry Vodka 750ml

Purchase 10 cases, receive a \$75 American Express gift cheque. Purchase 25 cases, receive a \$250 American Express gift cheque.

Spirited Brands of Iowa

3410 Kingman Blvd. Des Moines, IA 50311 Office: 515.274.0103 Cell: 515.202.1661 Fax: 866.751.8118

Please submit copies of all invoices to the above address to the attention of Jeremy Thompson either via fax or mail. All invoices must be submitted by June 15th for payment.

 $\underline{\textbf{Salvador's Margaritas:}}\ Original\ Margarita\ (63528)\ and\ 100\%$

 $Agave\ Premium\ Margarita\ (66580).$

Purchase 5 cases, receive a \$20 gift check.

Purchase 10 cases, receive a \$60 gift check. Purchase 25 cases, receive a \$200 gift check.

Pearl Vodka: All Flavors! Black (34546), Pomegranate (34702),

Plum (35183) and Blueberry (35179)

Purchase 3 cases, receive a \$60 gift check.

Purchase 6 cases, receive a \$180 gift check.

El Mayor Ultra Premium Tequila: Blanco (87596), Reposado

(89182), and/or Anejo (89267) 750ml

\$12 SPA per case in May

Admiral Coconut Rum: (43077) 1.0L \$6 SPA per case in May Juarez Tequila: Gold (89388) and/or Silver (87938) 1.75L \$3 SPA per case in May

Margaritaville RTD Cocktails:

Mix & Match Classic Lime Margarita (62400), Last Mango Margarita (62405), Passion Fruit Margarita (62403) and/or NEW Mojito (62390) 1.75L

Purchase 10 cases, receive a \$60 gift check. Purchase 25 cases, receive a \$175 gift check. Purchase 50 cases, receive a \$500 gift check.

\$6 SPA per case on Margaritaville RTD Classic Lime Margarita (62400), Last Mango Margarita (62405), Passion Fruit Margarita (62403), and/or NEW Mojito (62390) 1.75L

Margaritaville Core Tequilas and DSS Flavors:

Mix & Match Gold Tequila (89496), Island Lime DSS (75876) and/or Last Mango DSS (75881) 750ml

Purchase 3 cases, receive a \$50 gift check.

Purchase 5 cases, receive a \$90 gift check.

May 2009 Iowa ABD Specials

Glazer's - Hoover Division

4377 NW 112th Street Urbandale, IA 50322 Phone: 515.252.7173 Fax: 515.252.8681

All purchases must be on one invoice dated May 2009. Please present a copy of the invoice to your Glazer's Hoover Division sales representative or submit a fax to Thom Rowen.

Black Velvet: 1.75 (11788) \$4.50 SPA per case

Purchase 145 cases of BV 1.75L and 5 cases combined of Black Velvet Reserve 1.75L (11588) and/or 750ml (11586), receive a \$500 gift check.

Tequila Rose: Mix & Match all flavors, all sizes

Tequila Rose Cocoa 750ml (67100), Tequila Rose Strawberry Liters (65199), Tequila Rose Strawberry 750ml (65200), Tequila Rose Strawberry 50ml (65204)

Purchase 2 cases, receive a \$20 gift check.

Purchase 5 cases, receive a \$75 gift check and a Large Pink Trunk that can be used as a display unit. (While supplies last.)

Purchase 10 cases, receive a \$200 Gift Check and a Large Pink Trunk that can be used as a display unit. (While supplies last.)

\$24 per case SPA on 750ml of Tequila Rose and Cocoa

Quadro Russian Vodka: Iowa Owned (34678) 750ml

Purchase 6 bottles, receive a \$10 check.

Purchase 1 case, receive a \$25 check.

Purchase 2 cases, receive a \$60 check.

All purchases must be on one invoice.

For the Quadro deal, please mail or fax copies of your invoices to:

Quadro Group, LLC 916 Maiden Lane, Suite 4 Iowa City, IA 52240 Fax: 319-337-2869 **Glazer's - Pinnacle Division**

4377 - 112th Street Urbandale, IA 50322

Phone: 515.252.7173 ext. 13

Fax: 515.252.8681

All purchases must be on one invoice dated May 2009. Invoice must be submitted within 30 days of invoice date to qualify for funds. Please present a copy of the invoice to your Glazer's Pinnacle Division Sales Representative or submit a fax to Nick Grieder.

Grand Marnier Cordon Rouge: 750ml (65126)

Purchase 1 case, receive a \$24 promo check.

Glenmorangie 10yr Single Malt Scotch: 750ml (5133)

Purchase 2 cases, receive a \$40 promo check.

Purchase 4 cases, receive a \$100 promo check.

Smirnoff & Smirnoff Flavors: 1.75L, 750ml, & liters (out-

lined below) Mix & Match. Smirnoff Prepared Cocktails Excluded.

Purchase 12 cases (liters excluded), receive a \$40 promo check. Purchase 25 cases (maximum 5 cases liters), receive a \$100 promo check.

Purchase 55 cases (maximum 8 cases liters), receive a \$350 promo check.

Purchase 80 cases (maximum 15 cases liters), receive a \$650 promo check.

Purchase 105 cases (maximum 25 cases liters), receive a \$1,000 promo check.

\$9 SPA on 1.75L Smirnoff 80 glass and PET

Captain Morgan: (OSR, 100 Proof, Silver, Parrot Bay, & Myers): 1.75L 750ml, & liters (outlined below)

Purchase 7 cases (liters excluded), receive a \$20 promo check.

Purchase 13 cases (maximum 2 cases liters), receive a \$50 promo check.

Purchase 20 cases (maximum 8 cases liters), receive a \$75 promo check.

Purchase 35 cases (maximum 10 cases liters), receive a \$125 promo check.

Purchase 75 cases (maximum 15 cases liters), receive a \$350 promo check.

Purchase 105 cases (maximum 25 cases liters), receive a \$800 pro-

mo check.

\$9.00 SPA on 1.75L OSR and \$9.00 SPA on Parrot Bay 750ml

Ketel One and Ketel Citroen: 1.75L, 750ml & liters (outlined below)

Purchase 5 cases (liters excluded), receive a \$25 promo check.

Purchase 10 cases (liters excluded), receive a \$50 promo check.

Purchase 15 cases (maximum 2 cases liters), receive a \$75 promo check.

Purchase 20 cases (maximum 5 cases liters), receive a \$100 promo check.

Purchase 25 cases (maximum 8 cases liters), receive a \$150 promo check

Belvedere Vodka (34155) and Chopin Vodka (34244)

\$12 SPA on 750ml in May

10 Cane Rum: 750ml (42936)

Purchase 1 case, receive a \$60 promo check.

May 2009 Iowa ABD Specials



Code	Product	Proof	Size	Pack	Btl. Cost	Case Cost	UPC
40110	Coyote Vodka	90	1.000	12	19.35	232.20	9999100123
88381	Rattlesnake Tequila	90	1.000	12	19.35	232.50	9999100128
41052	Travis Hasse's Original Apple Pie Liqueur	40	0.750	12	12.00	144.00	9645900202
43051	Bacardi Dragon Berry	70	0.750	12	12.49	149.88	8048000027
63352	Smirnoff Tuscan Lemonade	30	1.750	6	15.01	90.06	8200074352
34122	Crystal Head Vodka (Temp/Allocated)	80	0.750	6	39.00	234.00	2704041141
34579	Pinnacle Vodka	80	0.750	12	11.81	141.72	8970846542
27544	Red Stag Kentucky Bourbon	80	0.750	12	14.95	179.40	8068600102
63513	Sauza Margarita RTD Bag in Box	19	1.750	6	12.59	75.74	8068685004
40821	Skyy Infused Pineapple	70	0.750	12	15.01	180.12	2105969750
922671	Duvel Ale *	17	0.750	12	7.26	87.12	5999600075
924262	Ommegang Abbey Ale *	17	0.750	12	5.16	61.92	4944000001
924264	Three Philosophers Ale *	19.6	0.750	12	7.31	87.72	4944000004
924267	Hennepin Farmhouse Ale *	15.4	0.750	12	5.23	62.76	4944000003
924269	Rare VOS Ale *	13	0.750	12	5.16	61.92	4944000002

*High proof beer must be ordered by full-case only.

